Bk HRIHEE

% % 27—k IR #k h
<+ ik yET| A <+ ik yET| W OB | 4 | & | RS |A¥|sAT| D10 D13 D16
1% 1A
A, 1389
1C2 0.670  0.670|  5.800 1 2.604 0.67 5.80 4 1554 Ff5 | D25 5.05| 8 1
-0.27 490 1 -1.320 797 |D25 0.30] 8 1
-0.47 0.90| 1 -0.42] HOOP |D10 2.60| 58] 1l 150.80
-0.27 5100 1 -1.38) JEH: | D25 1.oo| 8 1
-0.47 0.70| 1 -0.33
-0.20 0.25| 1 -0.05
-0.20 0.25] 1 -0.05
-0.67 0.25| 1 -0.17
A, 2380
1c2 0.650[  0.670| 5.800| 1 2.526 0.67 580 2 777 FEH|D25 5.05| 8 1
0.65, 5.80 2 7.54 7vs  |D25 0.30[ 8 1
-0.20 4.90[ 1 -0.98] HOOP |D10 2.60| 58] 1l 150.80
-0.27 4.90 1 -1.32) JE# | D25 ool 8 1
-0.47 0.90| 2 -0.85
-0.45 0.70| 1 -0.32
-0.20 0.20] 2 -0.08
-0.20 0.20] 1 -0.04
A, 318D
1c3 0.670[  0.620] 5.800| 1 2.409 0.67 5.80 2 .77 EM |D25 5.05| 8 1
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P avrY—p Bk # )
ik R A bk yET| WORO| 4 B | B RS |[AH »PT| DIO DI3 D16
-0.32  5.200 1 -1.66
-0.32  0.60 1 -0.19
B, 11"
IC1 0.920  0.900| 5.841] 1 4.836  0.92  5.84 2 10.75)  E#F  |D25 5.09 16| 1
0.90|  5.84 2 1051 7y |D25 0.30| 16| 1
-0.45|  0.90| 1 -0.41] HOOP |D13 3.60| 58 1 208.80
-0.27|  4.95 1 -L34f JE#E D25 Loof 16 1
-0.27| 513 1 -1.39
-0.47 070 1 -0.33
-0.52  0.90 1 -0.417
-0.45  0.25 1 -0.11
-0.45  0.25 1 -0.11
-0.40  0.25| 1 -0.10
-0.90|  0.25 1 -0.23
B,2i8Y)
IC1 0.900|  0.900| 5.841] 1 4731 0.90|  5.84 4 21.02) EffF | D25 5.09| 16| 1
-0.45  0.70 1 -0.32( HOOP |D13 3.60 58 1 208.80
-0.50  1.00] 1 -0.50( JEE D25 Loof 16 1
-0.45  0.90 1 -0.41
-0.60  0.95 1 -0.57
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P avrY—p Bk # )
ik R A bk yET| WORO| 4 B | B RS |[AH »PT| DIO DI3 D16
B,338EY
1C1 0.900|  0.900| 5.641] 1 4.569  0.90|  5.64 4 20.30| EfE | D25 4.89| 16| 1
-0.18)  4.64 1 -0.84| HOOP |D13 3.60| 55 1 198.00
-0.50  0.90] 1 -0.45| JEHE D25 Loof 16[ 1
-0.20 474 1 -0.95
-0.50[  1.00] 1 -0.50
-0.25 474 1 -1.19
-0.45  0.90 1 -0.41
-0.45  0.200 1 -0.09
-0.50  0.20 1 -0.10
B, 418"
ICla 0.920(  0.920| 6.200( 1 5.248  0.92(  6.20 4 22.82) Efh |D25 5.45 16| 1
-0.27| 530 1 -1.43 HOOP |D13 3.60 62 1 223.20
-0.47  0.90 1 -0.42f HOOP |DI3 0.90| 52 1 46.80
-0.45  0.200 1 -0.09| JEHE D25 Loof 16 1
-0.20 3.4 1 -0.63
-0.52  1.00 1 -0.52
-0.40|  0.20] 1 -0.08
-0.49| 087 1 -0.43
-0.43( 022 1 -0.09
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<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
-0.27 480 1 -1.30| 7v7 |D25 0.30| 16| 1
-0.47 ool 1 -0.47| HOOP |D13 3.60 57 1 205.20)
-0.45 0.25 1 -0.11f JE#: |D25 1.00[ 16 1
-0.27 490 1 -1.32
-0.52 0.90] 1 -0.47
-0.40 0.25| 1 -0.10
-0.90 0.25| 1 -0.23
C, 2309
1C1 0.900 0.920[ 5.800] 1 4.802 0.92 5.80 2 10.67| A5 |D25 5.05| 16| 1
0.90 580 2 10.44f HOOP |D13 3.60 57 1 205.20)
-0.27 480 1 -1.30| JEBE |D25 1.00[ 16/ 1
-4.70 ool 1 -4.70
-0.45 0.20] 1 -0.09
-0.20 470, 1 -0.94
-0.52 Lo 1 -0.57
-0.40 0.200 1 -0.08
-0.60 0.95 1 -0.57
-0.30 0.200 1 -0.06
C,3i8Y
1C1 0.900 0.920[ 5.800] 1 4.802 0.92 5.80 2 10.67| =M |D25 5.05| 16] 1
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P avrY—p Bk # )
ik R A bk yET| EOBT | A W | B RS A% sET| DIO DI3 D16
-0.40|  0.20] 1 -0.08
-0.20  4.90 1 -0.98
-0.47 090 1 -0.42
-0.45  0.20] 1 -0.09)
-0.20  4.50] 1 -0.90
-0.18  0.40] 1 -0.07
-0.50  0.90| 1 -0.45
-0.40|  0.20] 1 -0.08
C,4i8Y
IC1 0.920  0.920] 5.900] 1 4.994  0.92(  5.90 4 2171 Efi | D25 515 16| 1
0.82|  5.30 2 8.69| HOOP [D13 3.60 58 1 208.80
-0.20  5.000 1 -1.00f JE#E D25 Loof 16 1
-0.47|  0.90| 1 -0.42
-0.45  0.20] 1 -0.09
-0.20  4.90 1 -0.98
-0.52 1.0 1 -0.52
-0.40  0.20] 1 -0.08
-0.49| 087 1 -0.43
-0.43( 022 1 -0.09
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s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
1P 2MER G
laSG:)
1~338Y 0.470[  0.800|  6.505 1 2.446 0.80 6.51 1 5.21 E#h L [D25 15.38| 4 1
2G3 0.470|  0.800[ 7.550 1 2.839 0.20 6.51] 1 1.30 FA5 L [D25 163l 1l 1
0.55 3.26) 1 L.79| FEA5 L | D25 .89 1l 1
0.60 3.250 1 1.95) A5 L [D25 416 1| 1
0.80 7.55] 1 6.04 a D25 0.88 5 2
0.27 755 1 2,04 a D25 038 1| 4
0.60 755 1 4.53 JE#E | D25 Loo| 4 2
EHT |D25| 1471 4 1
a D25 0.88 4 2
E#E | D25 .00l 4 2
STP  [D13 2.500 34] 1 85.00
HTH 0.470|  0.100[  6.505 1 0.306 0.10 6.51] 2 1.30) sSTP |[D13 2.500 39 1 97.50
0.470|  0.100]  7.550| 1 0.355 0.10 7.55| 2 151 fEA5 D10 657 2 1 13.14
0.150 0.900[ 3.190| 1 0.431 0.15 3.9 1 0.48 REfE | D10 761 2 1 15.22
j D10 0.15| 2| 1 0.30
j D10 0.15| 2| 1 0.30
g% |[D10 0.45 6 1 2.70
gL/ | D10 0.45 7 1 3.15
HFTER | D16 1471 3] 1 44.13
BT ER | D16 3.9 4] 1 12.76
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
STP  [D13 1750 17 1 29.75
a D13 0.39| 73 2 56.94
A
3~ 431 0.600 0.320[ 3.050, 1 0.586 0.60 3.05| 1 1.83 F#5 L [D19 3.05 3] 1
B11 0.60 3.05) 1 1.8y a D19 067 3 2
FHT | D19 3.05 3 1
a D19 067 3 2
STP |D10 180 17| 1 30.60
g#% | D10 311 2 1 6.22
g@1Lf5 D10 0.30] 3 1 0.90
BifY
1~4i@Y 0.450|  0.900| 6.005 1 2.432 0.45 6.0l 1 270 Ef5 L |D25|  22.43] 4]
2G2 0.65 3.0l 2 3.91 EME [D25 730 2] 1
0.70 3.000 2 4.20| Ff5 £ [D25 586 2| 1
0.80|  4.54| 2 7.26] a D25 0.88 4 2
2G2a 0.500| 1.000[ 7.300] 1 3.650 1.00 2.76] 1 276 a D25 088 2 2
0.80 2.76| 1 221 a D25 088 2 1
0.50]  4.35| 1 2.18] JE# |D25 1.oo| 4 3
0.32 2.95 1 0.94 JE#E | D25 ool 2 1
2G1 0.450|  0.900[ 3.300] 1 1.337] 0.90 3.300 1 2.97| =T |D25| 2151 4] 1
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
0.20 311 1 0.62 JE#E D25 1.oo| 4 3
0.70 3.1 1 2.18| JE#E | D25 ool 1f 1
STP  [D13 2.700 32[ 1 86.40
STP  [D13 3.000 38 1 114.00
STP  [D13 2.700 34[ 1 91.80
I&#% | D10 6.07) 4 1 24.28
&% | D10 7.36| 4 1 29.44
Igf% | D10 6.47| 4 1 25.88
j D10 0.15| 4/ 3 1.80
Ig1E#; D10 0.45 6 2 5.40)
gL f% D10 0.50] 7| 2 7.00
gL/ | D10 0.50| 5 1 2.50
g 1Ef; D10 0.45 6 1 2.70
BifY
4~ 0.490| 0.870| 1.345 1 0.573 0.87 135 1 L7 FE#5 k| D25 .35 4 1
CGl 0.49 1.35 1 0.66| F#5 I |D25 0.85| 4 1
0.67 135 1 0.90 a D25 0.88 4 2
EMF | D25 1.35| 4 1
a D25 088 4 1
STP [D13 2.60 8] 1 20.80
IE#% | D10 141 2 1 2.82
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
1~3i@Y 0.470|  0.900[  6.005 1 2.540 0.65 3.0l 1 196 E@5 L (D25 1513 4 1
2G1 0.20 3.01 1 0.60] a D25 0.88 4 2
0.90 3.01 1 2.71f JE#: D25 1.00[ 4 2
0.70 3.000 1 2.10| T |D25|  14.21] 4] 1
0.20 3.000 1 0.60| a D25 0.88 4 2
0.90 3.000 1 2.70] JEH# |D25 ool 4 2
2Gla 0.520]  1.000]  7.300] 1 3.796 0.80 7.30] 1 5.84 STP [D13 2.700 32[ 1 86.40
0.32 7.30] 1 2.34f STP D13 3.000 38 1 114.00
1.00 7300 1 7.30 RERF |[D10 6.07| 4 1 24.28
g#% | D10 7.36| 4 1 29.44
j D10 0.15| 4/ 1 0.60
j D10 0.15| 4/ 1 0.60
g 1Ef; D10 0.45 6 2 5.40
&I/ | D10 050 7| 2 7.00
LEaRS) 0.470|  0.100[  6.005 1 0.282 0.10 6.01 2 L.20(#¥T M (D16 | 14.21) 3| 1 42.63
0.520 0.100[  7.300] 1 0.380 0.10 7.30] 2 146 a D16 048 3| 2 2.88
j D16 048 3| 2 2.88
STP  [D13 0.65 32 1 20.80
STP  [D13 0.70| 38 1 26.60
a D13 0.39| 70| 2 54.60
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
0.90 6.41 1 5.77| JE®E |D25 ool 4 1
Ef5 T | D25 6.41 4 1
a D25 0.88 4 2
JEBZ |D25 ool 4 1
STP  [D13 2.700 34[ 1 91.80
I&#% | D10 6.47| 4 1 25.88
j D10 0.15| 4/ 1 0.60
g LEfG | D10 0.45 6| 2 5.40
Cilb
4~ 0.490| 0.870] 1.345 1 0.573 0.87 135 1 1.17 =ML (D25 1.35] 4 1
CGl 0.49 1.35 1 0.66| F#5 L |D25 0.85 4 1
0.67 .35 1 0.90 a D25 088 4 1
FEHT |D25 1.35| 4 1
a D25 088 4 1
STP  [D13 2.60 8 1 20.80
ig#% | D10 141 2 1 2.82
g1k f% D10 0.45 1 1 0.45
11&Y
A~CiY | 0.470] 0.700] 2.030] 1 0.668 0.45 2.03] 2 1.83 M5k [D25| 1179 4 1
2GD 0.20 2.03) 1 041 a D25 0.88 4 2
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<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
a D25 0.88 4 2
a D25 0.88 4 2
E#: D25 1.00[ 4 1
STP  [D13 2.300 12[ 1 27.60
STP  [D13 2.80] 38 1 106.40
I&#% | D10 2.09] 2 1 4.18
&% | D10 7371 2| 9 29.48
j D10 0.15| 2| 2 0.60
g1k f% D10 0.45| 2 1 0.90
Ig1E#; D10 0.50[ 7 2 7.00,
2189
A~CiY | 0.450 0.700] 2.030] 1 0.639 0.50 2.03| 2 2.03| Ef5E |D25|  10.24] 4]
2GD 0.45 2.03] 1 0.91 E# £ | D25 731 2[ 1
2GC 0.600 0.950[ 7.305 1 4.164 0.75 7.31 2 10.97| EM5 L [D25 1.83] 4 2
0.60 731 1 439 a D25 0.88) 20 1
a D25 038 4 2
JE¥Z |D25 .50 4 1
E#E | D25 ool 2 1
FEfHF |D25 2.03[ 4 1
FEHT |D25 7.31 6 1
FEfHF |D25 3.65 1 1
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<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
E#E | D25 1.oo| 6 1
STP [D13 2.300 12[ 1 27.60
STP  [D13 3.100 75 1 232.50)
f&#% | D10 2.09] 2| 4.18
fig#% | D10 7371 4 1 29.48
j D10 0.15| 4/ 1 0.60
&I/ | D10 0.45 2| 1 0.90
E1EAH [ D10 0.60| 7| 2 8.40
g1k f% D10 0.60 2| 2 2.40
3180
B~Cifh 0.500[  0.900|  7.305 1 3.287 0.90 1.48 1 1.33) F#5E D25 7.31 4 1
2GA 0.30 148 1 0.44 a D25 0.88 4 2
0.70 148 1 1.04 JE# [D25 .00 4 1
0.90 583 1 5.25| M T [D25 7.31 4] 1
0.30 583 1 L75)  a D25 0.88 4 2
0.70 583 1 4.08) JEHE D25 ool 4 1
STP  [D13 2.80] 38 1 106.40

-12/72 -




Bis HEHES

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
Ig#5 | D10 7371 4 1 29.48
j D10 0.15| 4/ 1 0.60
g1E#; D10 0.50[ 7 2 7.00
BIEHST 0.100]  0.900] 2.005] 1 0.180 0.10 2.01] 1 0.20[ 44T 345 | D16 2.01] 4] 1 8.04
0.100  0.900[ 2.300] 1 0.207 0.10 2300 1 0.23 4T £ A | D16 2.30 4] 1 9.20
0.100  0.900]  2.000] 1 0.180 0.10 2.000 1 0.20[ #44T 345 | D16 2.00 4] 1 8.00
a D16 0.48) 12| 2 11.52
STP [D13 1.10| 38 1 41.80
a D13 0.39| 38 2 29.64
4389
B~Ci@v | 0.520 1.000{ 7.305| 1 3.799 0.80 731 1 5.85| EM L [D25 731 5 1
2GB 0.32 7.31] 1 2.34] ¥/ b [D25 1.83] 3 2
0.80 731 1 585 a D25 088 8 2
a D25 0.38] 3| 2
E#E | D25 1.oo| 5 1
FEf5F |D25 731 5 1]
EMF | D25 3.65 1 1
a D25 088 5 2
a D25 050 1| 2
[E#2  |D25 1.00] 5 1
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& T b L %W
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
IE1L#; | D10 0.50] 7| 2 7.00
gL/ | D10 0.50] 2| 2 2.00
43.091 174.20) 441.55) 1830.53|  151.64
14 2/ NG
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s+ YOS s+ yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
1~3i8Y
B~Ci@Y | 0.400 0.800 6.705| 1 2.146 0.55 341 2 3.75| ML [D25|  12.15) 4 1
B5 0.40 3.41 1 1.36| F#5 L |D25 2.89] 2 1
0.60 3.30] 2 3.9 a D25 0.88 4 2
0.40 3.300 1 137 a D25 038 2 2
0.400 0.800[ 4.840] 1 1.549) 0.60  4.84 2 581 JEBE [D25 ool 4 2
0.40 4.84 1 1.94) EfT |D25 12.15) 4 1
FEfHF |D25 391 2 1
Ff T | D25 2.82) 2 1
a D25 0.50| 4| 2
a D25 0.50 2| 4
E#E | D25 .00l 4 2
STP  [D13 2.400 35 1 84.00
STP  [D13 2.400 26| 1 62.40
IEf% | D10 6.77 2 1 13.54
fiEf | D10 4.90 2 1 9.80
j D10 0.15| 2| 1 0.30
g1k f% D10 0.40| 6 1 2.40
&I/ | D10 0.40| 5 1 2.00
1~3i8Y
B~Ci@h| 0.400 0.800] 6.705| 1 2.146 0.55 341 2 3.75| ML [D25|  12.15] 4 1
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
0.400 0.800[ 4.840] 1 1.549 0.60  4.84| 2 5810 FE#: D25 ool 4 2
0.40  4.84| 1 194 T |D22|  12.15] 4] 1
/T |D25 391 2 1
FEf5F |D25 2.82) 2 1
a D25 050 4| 2
a D25 050 2| 4
JE#E:  |D25 1.00[ 4 2
STP  [D13 2.400 35 1 84.00
STP D13 2.40 26| 1 62.40
g#% | D10 6.77) 2 1 13.54
I&#% | D10 4.90 2 1 9.80
j D10 0.15| 2| 1 0.30
g 1Ef; D10 0.40| 6 1 2.40
&I/ | D10 0.40| 5 1 2.00
1~2i@Y
A~Ci@Y | 0.300] 0.600] 2.230 1 0.401 0.35 2230 1 0.78] Ef5E |D19| 1089 3] 1
B3 0.30 2.23) 1 067 a D19 067 3 2
0.40 2.23) 1 0.89| /E#E D19 2.000 3] 1
0.300 0.600[ 2.500 1 0.450 0.35 250 1 0.88] XM T [D19| 10.89] 3| 1
0.30 2.50 1 0.75 a D19 038 3 2
0.40 2500 1 Lo JEE: |DI19 2.000 3| 1
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P ar7)—h TR, £ i
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
0.300  0.600[ 2.505 1 0.451 0.35 251 1 0.88f STP |D10 1.80] 14/ 1 25.20
0.30 251 1 0.75 AER% | D10 229 2[ 1 4.58
0.40 2.51 1 1.00f fEAE |D10O 2.56| 2 1 5.12
i&#% | D10 2.46| 2 1 4.92
fig#% | D10 257 2 1 5.14
g 1EfH D10 0.30] 2 1 0.60,
&I/ | D10 0.30] 2| 1 0.60
g LEfG | D10 0.30] 2 1 0.60
g1k f% D10 0.30] 2 1 0.60,
2~ 331
B~Cifh 0.300[  0.600]  2.450 1 0.441 0.40 2.45 2 1.96] F#5E |D19 8.11| 3 1
B3 0.30 245 1 0.74 a D19 067 3 2
0.300 0.600[ 2.400] 1 0.432 0.40 2.40] 2 1.92) JE#E D19 .50 3 1
0.30 2400 1 0.72| EAFT |D19 811 3 1
0.300 0.600[ 2.455 1 0.442 0.40 2.46| 2 197 a D19 038 3 2
0.30 2.46| 1 0.74f FE#E |D19 150 3 1
STP  |D10 1.80] 14/ 1 25.20
STP  |D10 .80 13 1 23.40
STP  |D10 .80 14/ 1 25.20
lE# |D10 2.51  2[ 1 5.02
IE#% | D10 2.46| 2 1 4.92
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
g LEAS | D10 0.30] 2 1 0.60
2~ 3380
A~Bi@bv [ 0.300] 0.600] 4.185 1 0.753|  0.40]  4.19| 2 3.35| EfME (D19 4190 3 1
B3 0.30| 4.9 1 1.26f a D19 0.671 3 2
FEfHF |D19 4.22 3 1
FHT [D19 2.46| 2| 1
a D19 0.38] 3 2
a D19 0.38] 2| 2
STP D10 1.80] 23] 1 41.40
I&#% | D10 4.25 2 1 8.50
g 1IE45 | D10 030 4 1 1.20
2~3i@Y
A~Bi@bv | 0.350] 0.700] 2.230 1 0.546|  0.50]  2.23] 1 L12| FEf5E | D22 2.23 3| 1
B9 0.70, 223 1 156 a D22 0.771 3| 2
0.17 2.23 1 0.38] F#H T |D22 2.23) 3 1
a D22 0.44] 3| 2
STP D10 2.100 13| 1 27.30
IE#% | D10 2.29] 2 1 4.58
gL/ | D10 035 2 1 0.70
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
0.85| 811 1 6.89 JE#E |D25 1.oo| e 1
Ef5 T | D25 8.11| 6 1
/T |D25 5.40[ 4 1
a D25 0.50 6 2
a D25 050 4 2
E# D25 1.00] 6 1
STP [D13 2.90] 42[ 1 121.80
Igf% | D10 8.17) 2 1 16.34
j D10 0.15| 2| 1 0.30
g A% | D10 0.60] 8 1 4.80
gL f% D10 0.60] 5 1 3.00
B3 0.300[  0.600| 1.860] 1 0.335|  0.60 1.86| 2 2.23| Ff5 E [D19 186 3] 1
0.30 1.86| 1 0.56| a D19 0.67] 3 2
FEfHF |D19 1.86] 3 1
a D19 0.38] 3| 2
STP D10 .80 11| 1 19.80
i&#% | D10 1.92] 2 1 3.84
g 1IL4% | D10 030 1 1 0.30
3~4i@Y
A~Bi@bh | 0.320] 0.600] 2.080] 1 0.399] 0.5  2.08 1 0.94 % £ [D19 2.08 3| 1
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s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
STP  |D10 .80 12 1 21.60
&% | D10 2.14] 2 1 4.28
g A% | D10 0.30] 2 1 0.60
B11 0.320] 0.600[ 3.310] 1 0.636 0.60 3.31 2 3.97 F#5 L [D19 331 3 1
a D19 067 3 2
FHT | D19 331 3 1
a D19 038 3 2
STP |D10 18| 18 1 32.40
g#% | D10 337 2 1 6.74
gL f% D10 0.30] 3 1 0.90
3~ 431
B~Ci@bv| 0.500 0.850] 7.205| 1 3.062 0.65 7.21 2 9.37| M5k [D25 721 6 1
B6 0.50 721 1 361 a D25 0.88 6 2
FHT | D25 721l 6 1
/T |D25 4.80] 3 1
a D25 0.50| 6| 2
a D25 0.50| 3| 2
STP  [D13 2.700 38] 1 102.60
lE# |D10 7211 2 1 14.54
j D10 0.15| 2| 1 0.30
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Bis HEHES

P ar7)—h TR, £ i
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
B6 0.500| 0.850] 7.205 1 3.062 0.65 721 2 9.37| Ef5 £ | D25 721 6 1
0.50 721 1 3.6l a D25 0.88] 6 2
/T |D25 721 6 1
FEf5F |D25 4.80] 3 1
a D25 0.50| 6| 2
a D25 0.50| 3| 2
STP [D13 2.70] 38] 1 102.60
Igf% | D10 727 2 1 14.54
j D10 0.15| 2| 1 0.30
gL/ | D10 0.50[ 7 1 3.50)
gL/ | D10 0.50] 5 1 2.50
4~3EY
B~Ci@bv| 0.340 0.870] 8.165| 1 2.415 0.67 8.17] 1 5470 EfE D22 8171 3 1
B10 0.34) 817 1 278 a D22 0771 3| 2
0.87 8.17 1 711 EFT D22 817 3 1
EfT | D22 5.44| 1 1
a D22 044/ 3| 2
a D22 044 1| 2
STP  |D10 2.30] 42[ 1 96.60
IE#% | D10 8.23 2 1 16.46
j D10 0.15| 2| 1 0.30
gL/ | D10 0.30] 8 1 2.40
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Bk HRIHEE

P ar7)—h TR, £ i
& yET| A RS sET| EOFH 4 | B | RS |[K¥|rEr| DIO D13 D16

1P 1R

laSG:)

1~2i@Y 6.255 4.900[ 0.270] 1 8.275 6.26]  4.90| 2 61.35| s | D13 4.90 33 2 323.40)

EW25 a D13 0.39| 33 2 25.74
R D13 6.26| 26| 2 325.52
a D13 0.39| 26| 4 40.56
j D13 0.46| 26| 2 23.92
@RS [D10 0.25| 6| 4 6.00

AiEY

2~ 331 7.850[  4.900| 0.200] 1 7.693 7.85|  4.90| 2 76.93| #tAH | D10 4.90 54 2 529.20

W18 -3.060| 3.550| 0.200] 1 -2.173  -3.06 3.55 2| 2173 f#EfE |[D1o|  -3.55| 21| 2 -149.10

-1.880| 3.000] 0.200] 1 -1.128) -1.88 3.000 2 -11.28] #f5 | D1o|  -3.00 13| 2 -78.00

a D10 0.30 54| 2 32.40

i 0.250|  3.800[ 0.270] 1 0.257 0.27 3.80] 2 2.05 K& | D10 7.85| 34 2 533.80

0.525 3.800[ 0.270] 1 0.539 0.27 3.80] 1 1.03) #&% |Dlo| -3.06| 24| 2 -146.88

#ifn  |D10|  -1.88] 20 2 -75.20
a D10 0.30] 34 4  40.80
j D10 0.35| 10| 2 7.00
gL/ | D10 0.18] 7| 4 5.04
fgik# [Dlo|  -0.18] 3| 3 -1.62
ME1ERG |D10|  -0.18] 1 3 -0.54
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
a D13 0.46| 8 2 7.36)
a D13 0.46| 8 2 7.36)
#if5 D13 3.06| 4] 2 24.48
5 D13 1.88] 4 2 15.04
a D13 0.46| 8 2 7.36)
a D13 0.46| 8 2 7.36,
#5 | D13 0.91| 2| 4 7.28
A5 |D13 0.91 2| 4 7.28
Gl
HeRs | D10 3.80 2 1 7.60
fems | D13 3.80 7 1 26.60
a D10 030 2| 2 1.20
a D13 039 7 2 5.46)
K | D10 0.79| 27| 1 21.33
iR [D13 0.80] 20| 1 16.00)
a D10 0.30] 27| 2 16.20
a D13 0.39] 20| 2 15.60
BT 2.120]  0.590[  0.420 1 0.525 2.12 0.42 1 0.89| fithH |D10 0.59| 2| 15 17.70
0.890|  0.940| 0.420] 1 0.351] 0.89|  0.42 1 0.37| #EAm | D10 0.94 2 7 13.16
a D10 0.30] 2| 30| 18.00
a D10 0.30 2| 14 8.40)
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
a D10 0.30] 2 3.60
AiEY
3~ 431 3.050| 4.970] 0.320] 1 4.851 4.97 3.05| 2 30.32) fitAE |D13 4971 17| 2 168.98
W30 -0.730|  1.300| 0.320] 1 -0.304| -0.73 1.30] 2 -1.90 fEms  |D13| -1.30] 4] 2 -10.40
-0.730| -0.765|  0.320] 1 0.179|  -0.73 0.77| 2 -1.12) fERs D3| -0.77] 4] 2 -6.16
a D13 0.39| 17| 2 13.26)
Hif5 |D13 3.05| 26| 2 158.60
B |D13|  -0.73] 7] 2 -10.22
#ifs D13 -0.73] 4] 2 -5.84,
a D13 0.39] 26| 4 40.56
g 1IE45 | D10 030 3 4 3.60
B C AR A
#ERs | D16 .30 4 2 10.40
feRs | D16 0.77) 4 2 6.16
a D16 0.56| 8 2 8.96
a D16 0.56| 4 2 4.48
5 D16 0.73] 4 2 5.84
#if5 | D16 0.73] 4| 1 2.92
a D16 0.56| 8 2 8.96
a D16 0.56| 4| 2 4.48
A5 D13 0.91 2| 4 7.28
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Bix HEHEE

- w2 y)—k LTI # %
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
2~ 3381 2.950| 4.541] 0.200] 1 2.679 2.95| 454 2 26.79( #EAH | D10 454 21 2f  190.68
W18 -0.600| 4.541| 0.020] 1 -0.054f -0.20]  4.54| 1 -0.91| ftf5  |D1o| 216 7| 2 -30.24
-1.030|  2.160] 0.200] 1 -0.445) -1.03 2.16 2 -4.45 a D10 0.30] 21| 2 12.60
5 |D10 295 32| 2| 188.80
M5 |D1O|  -1.03] 15 2 -30.90
a D10 0.30 32| 4 38.40
g 1L [ D10 0.18] 2| 4 1.44
a—F— | D13 454 1| 4 18.16)
B 11 476 342 75
feRs | D13 2.100 4 2 16.80
a D13 0.46| 8 1 3.68
i | D13 .03 4 1 4.12
a D13 0.46 4| 2 3.68
5 | D13 091 2 2 3.64
BifY
3~ 4381 6.380 5.270] 0.270] 1 9.078 6.38 527 2 67.25| #Efn | D13 5.27| 33 2 347.82
EW25 -0.860| 2.096| 0.250| 1 -0.451  -0.86 2.100 2 -3.61| fiEA5 D3| -2.100 5| 2 -21.00,
-3.110|  5.270|  0.020] 1 -0.328]  -0.20 527 1 -1.05) a D13 0.39| 33 2 25.74
RifH D13 6.38) 28| 2 357.28
Kifm  |D13|  -0.86] 11| 2 -18.92
a D13 0.39| 28 4 43.68
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Bix HEHEE

- w2 y)—k LTI # 175
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16

feRs | D16 2.100 4 2 16.80
a D16 0.56| 8 2 8.96
#if5 | D16 0.86| 4| 2 6.88
a D16 0.56| 8 2 8.96
A5 |D13 0.91] 2| 4 7.28

Cilb

1~2i@Y 6.005 4.800[ 0.270] 1 7.782 6.01 4.80 2 57.70| #AR | D13 4.80 32| 2 307.20

EW25 a D13 0.39] 32| 2 24.96
KR | D13 6.01] 25 2 300.50
a D13 0.39| 25 4 39.00
j D13 0.52| 26| 2 27.04
Ig1Ef; D10 0.25 6] 4 6.00

Ciib

2~ 330 7.300]  4.800| 0.200] 1 7.008 7.30]  4.80] 2 70.08] #¢ |D1O 4.80| 50| 2f  480.00

EW18 a D10 0.30| 50| 2 30.00
&5 D10 7.30[ 33| 2| 481.80
a D10 0.30] 33| 4  39.60
j D10 0.40 33 2 26.40
gL/ | D10 0.18| 7| 4 5.04
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
#if5 | D10 6.41| 35 2 448.70
a D10 0.30] 35 4  42.00
j D10 0.40 35 2|  28.00
g1 f% D10 0.18) 6 5 5.40
11@Y»
A~B@bv [ 2.025| 5.119] 0.270] 1 2.799|  2.03] 512 2 20.79) fitAn  [D13 512 12 2 122.88
EW25 -1.100]  1.100| 0.270| 1 -0.327|  -1.10 1o 2 -2.42\ fiEA5 D3| -1.10] 6] 2 -13.20
a D13 0.39] 12| 2 9.36
#if5 | D13 2.03| 27| 2 109.62
5 (D3| -1.10] 6] 2 -13.20
a D13 0.39] 27| 4 42.12
g 1Ef; D10 0.25 2| 5 2.50
Igikf% |D1o|  -0.25] 1] -0.25
B F AR A
fitfs | D16 10| 4 2 8.80,
a D16 0.56| 8 2 8.96
5 D16 10| 4 9 8.80,
a D16 0.56| 8 2 8.96
#H5 | D13 0.91 2| 4 7.28
1389 7.310  5.000] 0.270] 1 9.869|  7.31 5.00 2 73.10( #AH | D13 5.00 38 2 380.00
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Bix HEHEE

ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
#if5 | D13 7.31] 26| 2 380.12
s |D13|  -1.10] 6] 2 -13.20,
Mif  |D13|  -1.20] 6] 2 -14.40,
a D13 0.39| 26| 4 40.56
j D13 0.52| 26| 2 27.04
g 1EfH D10 0.25| 7| 5 8.75
f@ikfh [D1o|  -0.25| 1 1 -0.25
Ig@IEA; (Dol -0.25 1 1 -0.25
B AR AT
HeRs | D16 110l 4 2 8.80
fieRs | D16 .20 4 9 9.60,
a D16 0.56| 8 2 8.96
a D16 0.56| 8 2 8.96
Bif | D16 10| 4 2 8.80,
5 |D16 1200 4 2 9.60
a D16 0.56| 8 2 8.96
a D16 0.56| 8 2 8.96
&% [D13 0.91] 2| 4 7.28
#45  |D13 0.91] 2| 4 7.28
7.310[  4.500| 0.200] 1 6.579 7.31 450 2 65.79( #EAH | D10 4.50 50| 2f  450.00

-28/72 -




Bix HEHEE

ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16

j D10 0.40[ 31| 2  24.80

g1Lf% D10 0.20 7| 4 5.60,

7.310]  5.000 0.200[ 1 7.3100  7.31 5.000 2 73.10( #t#5 D10 5.00 50 2| 500.00
-1.530]  2.065| 0.200 1 -0.632] -1.53 2.07| 2 -6.33| #EA5  |D1o|  -2.07) 11| 2 -45.54
-2.440|  4.330] 0.200] 1 -2.113  -2.44] 433 2| 2113 e |Dlo| 433 17| 2 -147.22
a D10 0.30| 50| 2 30.00

0.250[  4.200|  0.255 2 0.536|  0.26|  4.20| 4 4.37| #% |D10 7.311 35 2 511.70

M5 |D10|  -1.53] 14| 2 -42.84

#H |Dl0|  -2.44| 29 2 -141.52

a D10 0.30[ 21 2 12.60

a D10 0.30] 35 2) 21.00

j D10 0.35| 6 2 4.20
@75 [D10 0.18 7 5 6.30
iEIEfS (D10l -0.18] 1 2 -0.36

IEIEfS (D10l -0.18] 2| 4 -1.44

B C AR A
HeRs | D13 2.07| 4 1 8.28
feRs | D13 433 4 2 34.64
a D13 0.46| 4 1 1.84
a D13 0.46| 4 2 3.68
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
a D13 0.46| 8 2 7.36
A5 |D13 091 2 1 1.82
#45  |D13 0.91 2| 2 3.64
Gl
fitAn | D10 4.200 2| 2 16.80
feRs | D13 4.200 3| 2 25.20
a D10 0.30] 4 2 2.40
a D13 0.39) 6 2 4.68
K | D10 0.76| 58 1 44.08
a D10 0.30| 58 2 34.80
2~ 3

A~Bi@b) 2475 4.900]  0.200 1 2.426) 2.48 4.90 2 24.301 #Efm | D10 4.90| 18 2) 176.40

W18 2.485 3.773 0.200 1 1.875] 2.49 3.77 2| 18.77| #ERH | D10 3.77) 18 2 135.72

W18 -1.030{  2.160|  0.200 1 -0.445] -1.03 2.16 2 -4.45( #EfH D10 -2.16 7 2 -30.24

a D10 0.30] 18 2) 10.80

a D10 0.30] 11 2) 6.60

#%  |D1o 2.48| 34 2 168.64

K | D10 2.49 271 2| 134.46

% |Dl0|  -1.03] 15 2l -30.90

a D10 0.30[ 34 4 40.80;

a D10 0.30] 27 4 32.40]
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Bk HRIHEE

% % avy—h B R 5 %
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
B F AR A
fiitis | D13 2.16| 4] 2 17.28
a D13 0.46| 8 1 3.68
5 D13 1.03| 4 1 4.12
a D13 0.46| 8 1 3.68
&5 | D13 0.91] 2| 2 3.64
3~4i@Y
A~Bi@Y | 2.075| 4.870 0.200[ 1 2.021 2.08] 487 2 20.26( #¢ |D1O 4.870 15| 2 146.10
W18 -1.030| 0.665| 0.200] 1 -0.137|  -1.03 0.67 2 -1.38 fiems  |plo|  -0.67] 7] o -9.38
a D10 0.30| 15 2 9.00
A5 | D10 2.08| 34| 2o 141.44
5 |DLO|  -1.03] 5 2 -10.30
a D10 0.30] 34 4  40.80
gL/ | D10 0.18 2| 4 1.44
B AR AT
feRs | D13 0.67 4| 2 5.36)
a D13 0.46| 8 1 3.68
M |D13 .03 4 1 4.12
a D13 0.46| 8 2 7.36)
5 | D13 091 2 2 3.64
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Bk HRIHEE

P arzy—h T £k i
RIS sET| RIS yET| W OB | 4 B | & | RS |A¥| AT DI1O D13 D16
1P 2FEPRAR
1~23@Y
A~Ci@b» 3.255 2.505 0.250 1 2.038 3.26 2.51 1 8.18| £/ | D13 10.89| 18 2) 392.04
525 3.255 2.400[  0.250 1 1.953 3.26 2.40 1 7.82)| £ ET|D13 10.89] 17 2) 370.26
S20 3.255 2.500[  0.250 1 2.034 3.26 2.50 1 8.15 &=/ £ F [ D13 2.21 1 2) 4.42
3.255 2.230[  0.250 1 1.815 3.26 2.23 1 7.27|EM ET|D13 8.11 9 2) 145.98
3.150[  2.505 0.200 1 1.578 3.15 2.51 1 7.91) F=/5 EF| D13 8.11| 16 2) 259.52
3.150f  2.400|  0.200 1 1.512 3.15 2.40 1 7.56| FE /5 £ T|D13 4.22 8 2) 67.52
3.150f  2.500|  0.200 1 1.575) 3.15 2.50 1 7.88| Eff LT[ D13 4.22 5 2) 42.20
3.300[  2.230|  0.200 1 1.472) 3.30 2.23 1 7.36) a D13 0.39| 36 1 14.04
1.550]  2.455 0.200 1 0.761 1.55 2.46 1 3.81 j D13 0.46| 36 2) 33.12
1.550{  2.400]  0.200 1 0.744 1.55 2.40 1 3.72) a D13 0.15| 36 1 5.40
1.550{  2.450,  0.200 1 0.760] 1.55 2.45 1 3.80) a D13 0.39] 34 1 13.26
2.990[  2.455 0.200 1 1.468 2.99 2.46 1 7.36) j D13 0.46| 34 2) 31.28
2.990[  2.400|  0.200 1 1.435 2.99 2.40 1 7.18 a D13 0.15] 34 1 5.10
2.990{  2.450|  0.200 1 1.465 2.99 2.45 1 7.33 a D13 0.39 2 1 0.78
4.220 1.250]  0.200 1 1.055 4.22 1.25 1 5.28] a D13 0.15 2 1 0.30
4.220{  0.680|  0.200 1 0.574 4.22 0.68 1 2.87 a D13 0.39] 18 1 7.02
j D13 0.46| 18 2) 16.56
a D13 0.15| 18 1 2.70
a D13 0.39] 32 1 12.48
j D13 0.46| 32 2) 29.44
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Bk HRIHEE

ar7)—h TR, £ i

<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
a D13 0.39| 10| 1 3.90
a D13 0.15| 10| 1 1.50)
fic 1k [D13 12.15) 14 1 170.10

B A b D16 3.26] 13[ 1 42.38
EAT |D13 3.26] 14] 1 45.64
fil /3 F |D13 8.59| 14 1 120.26,
fid /1 Lk [D13 12.15) 13 1 157.95

Bi/) E D16 3.26| 12 1 39.12
EAF |D13 3.26] 13[ 1 42.38
/1T D13 8.59| 13 1 111.67
A b D13 12.15] 14] 170.10

fic 1k [D16 3.26| 12 1 39.12)
fil /3 F |D13 3.26| 14 1 45.64
EAT |D13 8.59| 14/ 1 120.26
fid /3 & [D13 6.86| 13 1 89.18

f A b D16 3.26] 11| 1 35.86
EAHT |D13 3.26] 13) 1 42.38
i /3 F |D13 3.30[ 13 1 42.90
B ET|D13 2.23] 23] 2 102.58
a D13 0.39| 28 1 10.92
j D13 0.46| 14| 2 12.88

a D16 0.48) 26| 1 12.48
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Bk HRIHEE

avrY—p Bk # )
ik R A bk yET| WORO| 4 B | B RS |[AH »PT| DIO DI3 D16
i D13 0.46| 14| 1.5 9.66,
a |DI3 0.39| 26/ 1 10.14
j D13 0.46 13| 2 11.96
a |D16 0.48| 24| 1 11.52
a |DI3 0.15| 26 1 3.90
a |D13 0.15| 26| 1 3.90
j D13 0.46| 13| 1.5 8.97
a |DI3 0.39| 28 1 10.92
j D13 0.46| 14| 2 12.88
a |D16 0.48| 24| 1 11.52
a |DI3 0.15| 28 1 4.20
a |D13 0.15| 28 1 4.20
i D13 0.46| 14| 1.5 9.66,
a |DI3 0.39| 26/ 1 10.14
j D13 0.46| 13| 2 5.98
a |D16 0.48 22| 1 10.56
a |DI3 0.15| 26 1 3.90
a |D13 0.15| 26| 1 3.90
a |DI3 0.39| 46 1 17.94
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Bk HRIHEE

% % 27—k IR #k h
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
B~Cib | 7.205| 2.450 0.200] 1 3.530) 7.21 245 1 17.66| =A% 1T | D13 8.20] 37| 2 606.80)
520 7.205|  2.300] 0.200] 1 3.314 7.21 230 1 1658 a D13 039 74| 1 28.86
7.205|  2.450| 0.200] 1 3.530) 7.21 245 1 17.66) j D13 0.46| 74| 1.5 51.06
a D13 0.15| 74/ 1 11.10)
Bl L F| D13 7.21] 14 2 201.88
fid /7 7| D13 7.21] 13 2 187.46
Ed) ETF|D13 7.21] 14 2 201.88
a D13 0.39| 28 1 10.92
j D13 0.46| 28 1 12.88
a D13 0.15| 28 1 4.20
a D13 0.39| 26| 1 10.14
j D13 0.46| 26| 1 11.96)
a D13 0.15| 26| 1 3.90
a D13 0.39] 28 1 10.92
j D13 0.46| 28 1 12.88
a D13 0.15| 28 1 4.20
A~Ci@Y
~ LY 1.405| 11.825  0.270 1 4.486 1.41| 11.83 1 16.68]| F#5 £ T | D13 1.41] 61 2 172.02
525 1.41 0.271] 2 0.76( Ef5 £ |D13 0.25| 61| 1 15.25
11.83 0.27 1 3.19] a D13 0.39] 61| 1 23.79
a D13 0.15| 61 1 9.15
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Bk HRIHEE

5 avy—h IR #k h
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
*ggé%% D3| 11.83 2| 1 23.66
ZUH [D16|  11.83] 1 1 11.83
J D13 0.46| 20| 1.5 13.80)
j D16 0.56| 8| 1.5 6.72
A~Bi&@h
3~ 431 1.050|  2.375| 0.225| 1 0.561 1.05 2.38 1 2.50( £/ L T| D13 1.05| 13| 2 27.30
Cs18~23  0.120]  2.375 0.100] 1 0.029 1.05 0.23) 1 0.24 Ef5 £ |D10 1.05| 12 1 12.60
2.38 0.23) 1 0.55| EfF D13 033 13 1 4.29
2.38 0.10] 2 0.48 a D13 0.39| 13 1 5.07
a D10 0.30] 12| 1 3.60
a D13 0.15| 13 1 1.95
a D13 0.39| 13 1 5.07
E/) ETF|D13 2.38] 6| 2 28.56
fid /3 & [D13 2.38] 1 1 2.38
a D13 0.39] 6 1 2.34
a D13 0.15| 1| 1 0.15
A~Ci@b
4~ 1.005|  8.165 0.274| 1 2.248 1.01 8.17 1 8.25(F M £ T| D13 1.01| 42 2 84.84
520 a D13 0.39] 84 1 32.76
a D13 0.15| 84/ 1 12.60)
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Bk HRIHEE

arzy—h il 2
& f % %
o SPF| R o |emr| omom | 4 om | | Bs |&%|sP| po | D13 | D6
j D13 0.46| 16| 1.5 11.04]
Vb
1.50 1.50 5 11.25
39.937] 199.280) 16.20| 5117.15 303.92
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Bk HRIHEE

% % 27—k IR #k h
<+ ik yET| A <+ ik yET| W OB | 4 | & | RS |A¥|sAT| D10 D13 D16
1% LPEHE
[el2E
0.963| 2.808] 0.228) 1 0.617 1.61 0.96| 1 1.55| Eff L |D13 1.36) 2| 9 24.48
L113| 0994/ o0.150] 1 0.166 1.61 L) 1 L79  a D13 0.39] 2 7.02
0.963| 1.266| 0.150, 1 0.183 0.90 L1 1.00| A5 T [D13 1.36) 1| 8 10.88
0.963| 4.381] 0228 1 0.962 1.36 0.96] 1 131 a D13 0.15| 1| 8 1.20)
0.963| 1.864| 0.150| 1 0.269 1.18 0.96] 1 1.13| &ATF |D10 281 7] 1 19.67
L113)  2.137]  0.150] 1 0.357 3.20 L1 3.55] a D10 035 7 1 2.45
0.963| 2.503| 0.228] 1 0.550 L 1 AF A=A [ D10 362 7 1 25.34
0.963| 2.424| 0.150] 1 0.350 2.21 0.96] 1 212 a D10 0.15| 7 1 1.05
L113|  2.130 0.150] 1 0.356 1.18 096 1 1.13
1.32 1.11 1 147 Ef5 L D13 141 2| 14 39.48
2.46 Lif 1 273 a D13 0.39| 2| 14 10.92
2.13 0.96] 1 2.04 EfF D13 141 1| 14 19.74
a D13 0.15| 1| 14 2.10
2.08 096 1 2.00( EAF | D10 4.38] 7 1 30.66
1.54 0.96] 1 148 a D10 035 7| 2 4.90
2.44 0.96] 1 2.34 12 <#5 [ D10 582 7| 1 40.74
3.38 0.96 1 3.2 a D10 015 7| 2 2.10
1.36 0.96] 1 1.31
1.82 0.96 1 1.75( FE#5 L (D13 1.33) 2| 8 21.28
a D13 039 2| 8 6.24
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Bk HRIHEE

ar7)—h TR, £ i
s+ YOS s+ yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
a D10 035 7| 2 4.90
1+ 2<% | D10 s8] 7 1 22.26
a D10 0.15| 7| 2 2.10
FilEZ]
FM L T|D10 2.08] 3 2 12.48
F# L T|D13 2.08] 3 2 12.48
FM5 ET|D13 i1 2 2.22
FM5 L TF|D13 2.08] 4] 1 8.32
a D10 0.30] 3| 2 1.80
a D13 0.39] 6 2 4.68
a D10 0.15| 3| 2 0.90
a D13 0.15| 6 2 1.80)
i/ ETF|D10 0.90] 3 2 5.40
Bl ) BT D13 0.90] 3| 2 5.40)
i) ETF|D10 1.36) 3| 2 8.16
B/ LT D13 1.36| 4 2 10.88
a D10 0.35| 6 3 6.30
a D13 0.46| 7| 3 9.66
a D10 0.15| 6 1 0.90
a D13 0.15| 7 1 1.05
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Bk HRIHEE

ar7)—h TR, £ i
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
FH5 ET| D13 i1 2 2.22
F#5 L TF|D13 2.08] 6 1 12.48
a D10 0.30] 4] 2 2.40
a D13 0.39) 9 2 7.02
a D10 0.15| 4| 2 1.20
a D13 0.15| 9| 2 2.70
i/ ETF|D10 175 3| 2 10.50
Bl BT D13 175 3| 2 10.50
i) EF|D10 221 3] 2 13.26
fic 1 ETF|D13 2.21 4 2 17.68
a D10 0.35| 6 3 6.30
a D13 046 7| 3 9.66
a D10 0.15| 6 1 0.90
a D13 0.15| 7 1 1.05
F#5 L TF|D10 2.08] 5 2 20.80
FH5 LT D13 2.08] 6 2 24.96
F/5 LT |D10 .63 1| 2 3.26
F#5 L TF|D13 .63 1| 2 3.26
a D10 0.30] 6 2 3.60
a D13 039 7| 2 5.46
a D10 0.15| 6| 2 1.80
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16

B/ LT D10 213 3 2 12.78

Ed7) EF|DI13 2.13| 4] 2 17.04
a D10 0.35 6 3 6.30

a D13 0.46| 7| 3 9.66
a D10 0.15 6 1 0.90

a D13 015 7 1 1.05
F0EE 0.560|  0.359|  0.150| 0.5 0.015]  0.56|  0.36] 0.5 0.10] ftfH D10 0.18) 3 1 0.54
0.103|  0.233] 0.150] 1 0.004] 0.10  0.23 1 0.02( #tAH |D10 148 8 1 11.84
1.100|  1.476| 0.150| 1 0.244 1.10 148 1 1.63| A5 | D10 2.12| 8 1 16.96
1.180|  2.117|  0.150, 1 0.375 18| 2120 1 2.50( #EA | D10 14| 8 1 9.12
0.259|  0.174|  0.150| 0.5 0.003]  0.26]  0.17| 0.5 0.02| it |D10 2.15| 8| 1 17.20
1.221)  1.097] 0.150| 1 0.201] 1.22 L1 1 1.34] feR5 D10 Ll 71 7.98
1.180|  2.151| 0.150] 1 0.381 118 215 1 2.54] fEfE | D10 o 2l 1 2.20
0.259|  0.174|  0.150| 0.5 0.003]  0.26]  0.17| 0.5 0.02] a D10 0.30] 38 1 11.40
1.069 1.097| 0.150, 1 0.176 1.07 Liof 1 1.18] ##% |D10 2770 5] 1 13.85

0.381]  1.280| 0.150 1 0.073 0.38 1.28 1 0.49) HEfH D13 2771 2 1 5.54
0.963|  1.130| 0.150] 1 0.163|  0.96 L) 1 1.08] ##%5 |D10 433 5 1 21.65

L.11 1.28 1 1.42| HEfE |D13 433 2 1 8.66
5 |D10 2.64] 5 1 13.20

0.46|  0.29| 0.5 0.07| HEfm | D13 2.64] 2[ 1 5.28
0.89|  0.59| 0.5 0.26] #Ef [ D10 0.26| 5 1 1.30
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
0.26|  0.30| 0.5 0.04) a D10 0.30| 5 5 7.50
2.58]  0.83 1 2.14  a D13 039 2| 5 3.90)
0.49 L3 1 0.55 a D13 039 2| 5 3.90)
0.30  0.15 1 0.05)
1.01 0.15 1 0.15)
1.32 0.15) 1 0.20
0.30  0.15 1 0.05)
1.01 0.15 1 0.15
2.89|  0.15 1 0.43
0.30,  0.15 1 0.05)
1.01 0.15| 1 0.15)
2.67 0.15 1 0.40)
S B
1475 0.279]  0.171] 0.5 0.035  0.17 148 1 0.25 EfF L |D13 2.35| 2| 5 23.50
2.200(  1.899| 0.150] 1 0.627|  0.52 148 1 077 a D13 039 2| 5 3.90)
2.200(  0.280|  0.160| 2.5 0.246 1.43 2.200 1 3.15| EMT [D13 2.350 1] 4 9.40
2.200]  0.655| 0.150] 1 0.216]  0.64/ 220 1 141 a D13 0.15 1| 4 0.60)
0.80|  2.20] 1 L.76| EMFT | D16 .63 1| 2 3.26
1.04) 2200 1 229 a D16 048 1| 2 0.96
fid /3T |D10 1.90 11 1 20.90
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
B0
F#5 EF|D10 2.200 2] 2 8.80
FM5 ET|D13 2200 2[ 2 8.80
a D10 0.30] 2| 2 1.20
a D13 039 2| 2 1.56)
a D10 0.15| 2| 2 0.60
a D13 0.15| 2| 2 0.60
i) EF|D10 0.65| 5 2 6.50
fic 1 ETF|D13 0.65| 6 2 7.80)
a D10 0.35| 5 3 5.25
a D13 0.46| 6| 3 8.28
a D10 0.15| 5 1 0.75
a D13 0.15| 6 1 0.90
b St
B~Ci@h| 0.900] 2.650] 0.639] 1 1.524] 0.94 0.75) 2 L4l #ER5 | D13 0.75 15 2 22.50
1~2i@h 0.940 2.690[ 0.111] 1 0.281 2.69 0.75| 2 4.04 #tRm | D13 0.75| 9| 2 13.50)
a D13 0.39| 15 2 11.70)
a D13 0.39) 9 2 7.02
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Bix HEHEE

5 a7y —h TR 73 i}
RIS sHT| IR RIS yET| m OB | 4 B | B | RS |[A¥| Pt DIO D13 D16
a D13 0.39] 8 1 3.12
a D13 0.39] 8 1 3.12
a D13 0.46| 4] 2 3.68
i |D13 1.25 3 1 3.75
W5 D13 0.94 6 1 5.64
a D13 0.39] 3 2 2.34
a D13 0.39] 6 2 4.68
[3H 1 A 5 A%
5 | D13 0.50| 16 2 16.00)
a D13 0.46| 32| 2 29.44
#H%  |D13 0.91| 16 2 29.12
bk HE R
B~Ci@v | 0.300] 6.220] 0.639] 2 2.385 0.34 0.75| 4 1.02f #tRH D13 0.75 66| 2 99.00
2~ 330 0.340|  6.260| 0.111] 2 0.473 6.26 0.75| 4 18.78| fERE | D16 0.75| 6] 2 9.00
a D13 0.39] 66| 2 51.48
a D16 0.48] 6] 4 11.52
5 |D13 6.26| 6 2 75.12
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Bis HEHES

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
KRG | D16 6.26) 3| 2 37.56
a D16 0.48] 6 2 5.76
j D16 0.56| 6 1 3.36
By
AiY 13.360[  0.200] 0.550| 1 1470 13.36]  0.55| 2 14.70| #ERR  [D10 055 91 2f 100.10
a D10 0.30] 91| 2 54.60
#if5  |D1o|  13.36] 3] 2 80.16
a D10 0.30 3| 4 3.60
j D10 0.35 6 2 4.20
R [DL3| 13.36] 4 1 53.44
a D13 0.39] 4 2 3.12
j D13 0.46| 4 2 3.68
1@y 11.815]  0.200] 0.500] 1 1182 11.82 0.50 2 11.82| #ERR  |D10 0.50| 80| 2f  80.00
a D10 0.30 80| 2  48.00
HeRs | D13 0.50 2 1 1.00
a D13 039 2 1 0.78
Kifs  |D1o|  11.82] 3] 2 70.92
a D10 0.30 3 4 3.60
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
j D13 0.46| 4| 1 1.84)
CilY 8.130| 0.200[ 0.550 1 0.894 8.13 0.55 2 8.94f #tf | D10 0.55 56| 2 61.60
a D10 0.30| 56| 2 33.60
R D10 8.13| 3 2 48.78
a D10 0.30] 3| 4 3.60
j D10 0.35| 3| 2 2.10
1| D13 8.13| 4 1 32.52
a D13 0.39] 4 2 3.12
j D13 0.46| 4| 1 1.84)
5.240|  0.200[ 0.550| 1 0.576 5.24 0.55| 2 5.76| #tR5 |D10 0.55 36| 2 39.60
a D10 0.30| 36| 2 21.60
5 D10 5.24[ 3| 2 31.44
a D10 0.30] 3| 4 3.60
Hf D13 5.24] 4 1 20.96
a D13 0.39] 4 2 3.12
15.357] 129.800) 1227.49| 1108.70) 71.42
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Bis HEHES

P avrY—p Bk # )
ik R A bk yET| EOBT | A W | B RS A% sET| DIO DI3 D16
2k 2BERE
A, 3180
2C3 0.670|  0.620] 3.800] 1 1579  0.62]  3.80] 2 471 FAH D25 380 8 1
0.67|  3.80| 2 5.091 7v7 |D25 0.30| 8 1
-0.20  3.10] 1 -0.62[ HOOP [D10 2.50 38 1f  95.00
-0.32(  0.70] 1 -0.22f JEE D25 Loof 8 1
-0.30  0.20] 1 -0.06
-0.32 3.0 1 -0.99
-0.32  0.70 1 -0.22
-0.45  0.70] 1 -0.32
-0.20  0.20 1 -0.04)
B,2i8Y)
2C1 0.940|  0.940| 3.859] 1 34100 094 386 4 1451 E# |D25 3.86| 16| 1
-0.54|  1.22) 1 -0.66] 7v7 |D25 0.30| 16| 1
-0.40  0.22 1 -0.09| HOOP |DI13 3.60 37 1 133.20
-0.54  0.92 1 -0.50( JE#E D25 Loof 16/ 1
-0.40| 022 1 -0.09
B,3i8Y)
2Cla 0.900|  0.900| 3.859| 1 3.126|  0.90  3.66| 4 13.18]  EfF  |D25 3.86| 16| 1
-0.18|  2.66| 1 -0.48] 77 |D25 0.30| 16| 1
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Bk HRIHEE

P avrY—p Bk # )
ik R A bk yET| WORO| 4 B | B RS |[AH »PT| DIO DI3 D16
-0.45  0.70] 1 -0.32
-0.50  0.90 1 -0.45
-0.18  0.61] 1 -0.11
-0.45|  0.20] 2 -0.18
-0.40|  0.20] 2 -0.16
B, 41
2C1 0.920|  0.920] 4.000] 1 3.386  0.92)  4.00 4 14.72)  Ef |D25 4.00| 16/ 1
-0.27  3.000 1 -0.81 7v7 |D25 0.30| 16 1
-0.47|  1.00] 1 -0.47| HOOP |D13 3.60 39 1 140.40
-0.45  0.20] 1 -0.09 JE# D25 Loof 16 1
-0.20 3.0 1 -0.62
-0.52  0.90 1 ~0.417
-0.40  0.20] 1 -0.08
C,2i0Y)
2C1 0.940|  0.940| 3.900] 1 3.446| 094 390 4 14.66| L5 |D25 3.90 16| 1
-0.22( 270 1 -0.59| 7v/ |D25 0.30| 16| 1
-0.54  1.200 1 -0.65| HOOP |D13 3.60 37 1 133.20
-0.40  0.22 1 -0.09( JEE |D25 Loof 16 1
-0.54  0.92 1 ~0.50
-0.40  0.22 1 -0.09
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Bk HRIHEE

o avrY—p Bk # )
ik R A bk yET| EOBT | A W | B RS A% sET| DIO DI3 D16
0.92|  3.90 2 718 7y |D25 0.30| 16| 1
-0.200  2.70 1 -0.54f HOOP |DI3 3.60 37 1 133.20
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Bk HRIHEE

P avrY—p Bk # )
ik R A bk yET| EOBT | A W | B RS A% sET| DIO DI3 D16
-0.52  1.20] 1 -0.62] % D25 Loof 16 1
-0.40  0.20] 1 -0.08
-0.20  2.90 1 -0.58
-0.47 Loo| 1 -0.47
-0.45  0.20] 1 ~0.09
-0.18  3.000 1 ~0.54
-0.50  0.90| 1 -0.45
-0.40|  0.20] 1 -0.08
C,4i8Y
2C1 0.920  0.920] 4.300] 1 3.640  0.92) 4300 4 15.82) L5 |D25 430 16/ 1
-0.20  3.30] 1 -0.66( 7/ |D25 0.30| 16| 1
-0.47  1.00] 1 -0.47| HOOP |DI13 3.60| 41 1 147.60
-0.45|  0.20| 1 -0.09| JEHE D25 1.00| 16[ 1
-0.20  3.40] 1 -0.68
-0.52  0.90 1 -0.47
-0.40|  0.200 1 -0.08
21.816 79.250) 95.00|  853.20
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Bk HRIHEE

5 avy—h BB #k h
<+ ik yET| A <+ ik yET| W OB | 4 | & | RS |A¥|sAT| D10 D13 D16
RH RIER
Bifi 0.540| 1.120[ 4.430] 1 2.679 1.12 7.28) 1 8.15 EfF L |D25| 16.41] 4]
2~ 4381 0.520 1.120[  0.900] 1 0.524 0.54 443 1 2.39| E# £ | D25 820 1| 1
RG2 0.500| 1.100[ 1.950| 1 1.073] 0.29 0.90 1 0.26( Ef5 £ | D25 728 1] 1
0.27 .95 1 0.53 EfH £ | D25 6.41 3 1
0.92 7.28) 1 6.70] a D25 0.88 4 2
RG1 0.450|  0.900| 3.310] 1 1.341 0.70 3.31 1 232 a D25 0.88 5 1
0.20 3.31 1 0.66 a D25 088 2 1
0.70 331 1 232 a D25 038 3 1
0.470  0.900[  3.095 1 1.309) 0.90 3100 1 2.79 E#E | D25 1.oo| 4 2
0.20 3.100 1 0.62 JE#E |D25 ool 2 1
0.70, 3.10) 1 2.17 F#HT | D25 7.28] 6 1
FEfHF |D25 6.41| 4 1
HTH 0.540| 0.100[ 4.430] 1 0.239 0.10 7.28) 2 146 a D25 0.88 6 2
0.520  0.100[  0.900] 1 0.047 a D25 0.88 4 2
0.500 0.100[ 1.950| 1 0.098 JE#E | D25 1.oo| 6 1
0.450|  0.100[ 3.310] 1 0.149 0.10 3.31 2 0.66| E#E | D25 ool 4 1
0.470|  0.100[  3.095 1 0.145 0.10 3.100 2 0.62] STP |DI13 3.200 38 1 121.60
STP  [D13 2.700 34[ 1 91.80

IE#% | D10 7.34) 4] 29.36

lE# |D10 6.47) 4 1 25.88

j D10 0.15| 4/ 1 0.60
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Bk HRIHEE

% % 27—k IR #k h
<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
g LEAS | D10 0.45 6| 2 5.40
BETER| D16 14.61) 3] 1 43.83
a D16 048 3| 2 2.88
STP  [D13 0.70| 38 1 26.60
STP  [D13 0.65 34/ 1 22.10
a D13 0.39| 72 2 56.16
Ciil)
2~4i8@Y 0.540| 1.120] 5.330] 1 3.224 0.92 533 1 4.90( FE#5 L [D25| 1641 4]
RG2 0.32 533 1 171 FE=M5 L [D25 820 1| 1
1.12 5.33 1 5.97 E#h L |D25 7.28] 1 1
0.520 1.100] 1950, 1 1.115] 0.90 195 1 1.76( =5 L [D25 6.41 3 1
0.32 .95 1 062 a D25 0.88 4 2
1.10 195 1 215 a D25 088 5 1
RG1 0.470|  0.900[  6.405 1 2.709 0.70 6.41 1 449 a D25 088 2 1
0.27 6.41 1 173 a D25 038 3 1
0.90 6.41 1 5.77| JE¥E D25 ool 4 2
E#E | D25 ool 2 1
T 0.540|  0.100 533 1 0.288 0.10 533 2 1.07| EMT D25 7.28] 6 1
0.520]  0.100 .95 1 0.101 0.10 1.95 2 0.39| E/HT | D25 6.41 4 1
0.470|  0.100[  6.405 1 0.301 0.10 6.41 2 1.28) a D25 0.88 6 2
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Bk HRIHEE

P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
STP  [D13 3.200 38 1 121.60
STP [D13 2.700 34] 1 91.80
fig#% | D10 7.34) 4 1 29.36
i&#% | D10 6.47| 4 1 25.88
j D10 0.15| 4/ 1 0.60
j D10 0.15| 4/ 1 0.60
&I/ | D10 050 7| 2 7.00
Ig1Ef; D10 0.50] 5 1 2.50
g1k f% D10 0.45| 6] 2 5.40
HITER | D16 14.61) 3] 1 43.83
a D16 048 3| 2 2.88
STP  [D13 0.70| 38 1 26.60
STP  [D13 0.65 34/ 1 22.10
a D13 0.39| 72| 2 56.16
218"
B~CifY 0.540[  0.920] 7.265 1 3.609) 0.92 7.27 1 6.69| F#h L |D25 9.11| 5 1
RGB 0.54 721 1 3.93| EfE D25 .83 2 2
0.72 7.2711 1 5231 a D25 0.88 5 2
a D25 088 2 2
a D25 038 2 2
[E#2  |D25 1.00] 5 1
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Rk HEHEE
P ar7)—h TR, £ i
s+ YOS s+ ST EORE | & B | 8| RS |[A¥| 4PT| D10 D13 D16
a D25 050 2| 2
[E#E | D25 1.oo| 5 1
STP  [D13 2.80] 38 1 106.40
i&#% | D10 7371 4 1 29.48
j D10 0.15| 4/ 1 0.60
g 1EfH D10 0.50] 7| 2 7.00
3iEY
A~CiY | 0.450 0.700] 2.080] 1 0.655 0.50 2.08] 2 2.08 EfFE |D25|  11.79] 4]
RGC 0.45 2.08] 1 0.94 a D25 0.88 4 2
RGA 0.500 0.900[ 7.305 1 3.287 0.70 731 2 10.23] JEH |D25 .50 4 1
0.32 7.31 1 2.34 FFHT | D25 2.08] 4 1
FEfHF |D25 731 4 1
a D25 0.88 4 2
a D25 0.88 4 2
JE#E | D25 1.oo| 4 1
STP  [D13 2.300 12[ 1 27.60
STP  [D13 2.80] 38 1 106.40
figf5 | D10 2.14] 2 1 4.28
IE#% | D10 7371 2| 2 29.48
j D10 0.15| 2| 2 0.60
g 1Ef; D10 0.45 2 1 0.90
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Rk HEHEE
- w2 y)—k LTI # 175
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
B~Ci@h| 0.520 0.900 7.305| 1 3.419 0.70 731 1 5.12| EfE [D25 9.1 5 1
RGB 0.32 731 1 2.34| Ff5 b [D25 183 2| 2
0.90 731 1 658 a D25 0.88 5 2
a D25 088 2 2
a D25 038 2 2
[E#2  |D25 1.00] 5 1
FHT | D25 731 5 1
FEfHF |D25 3.66| 2 1
a D25 0.88] 5 2
a D25 050 2| 2
JEBE |D25 ool 5 1
STP  [D13 2.80] 38 1 106.40
IE#% | D10 7371 2| 2 29.48
j D10 0.15| 2| 2 0.60
gL/ | D10 0.50] 7| 2 7.00
26.312 108.970) 255.60|  983.32 93.42
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Bk HRIHEE

5 avy—h BB #k h
<+ ik yET| A <+ ik yET| W OB | 4 | & | RS |A¥|sAT| D10 D13 D16
2 2 /NG
2~ 330
B~Cifh 0.640[  0.920]  8.065 1 4.749 0.72 8.07 2 11.62] E/ L |D25 8.07| 6 1
Bl 0.64) 8.07| 1 516 a D25 0.88 6 2
E#E D25 .00 6 1
FEfHF |D25 8.071 6 1
F#HT |D25 5.38] 4] 1
a D25 0.50| 6| 2
a D25 0.50| 4| 2
STP  [D13 3.00 42[ 1 126.00
I&#% | D10 8.13| 4 1 32.52
j D10 0.15| 4/ 1 0.60
gL/ | D10 0.60] 8 1 4.80
g% |[D10 0.60] 5 1 3.00
2~ 431
B~Ci@h| 0.540] 0.670] 2.420| 1 0.876 0.47 242 2 221 Ef5 L |D25|  12.14] 5]
B2 0.54 242 1 1.3l FEM5 L [D25 Lif o2l 1
B2 0.500  0.650|  2.010 1 0.653 0.45 2.01 2 1.81f A5 E |D25 1.80 1 1
0.65 2.0l 1 131 a D25 088 7| 1
B4 0.500 0.750] 7.205 1 2.702 0.55 7.21 2 793 a D25 0.88 5 1
0.50 721 1 361 a D25 088 1| 1
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<+ ik yET| A <+ ik yET| O | 4 BR[| B | RS A% »FT| D10 D13 D16
EfT |D25| 1214 5]
a D25 0.50| 5 2
STP  [D13 2.30] 46| 1 105.80
STP  [D13 2.500 38 1 95.00
fig#% | D10 449 2 1 8.98
I&#% | D10 7271 2| 14.54
j D10 0.15| 2| 1 0.30
Ig1Ef; D10 0.50 4| 1 2.00
g1k f% D10 0.50 7 1 3.50
2~ 431
B~Cifh 0.540[  0.670|  2.420 1 0.876 0.47 2.42 2 2.27| F#H L | D25 12.14| 5 1
B2 0.54 242 1 1.3l FEM5 L [D25 L2l 1
B2 0.500| 0.650] 2.010] 1 0.653 0.45 2.01] 2 1.81f F#5 L [D25 .80 1l 1
B4 0.65 2.0l 1 131 a D25 088 7 1
0.500 0.750[ 7.205 1 2.702 0.55 721 2 793 a D25 088 5 1
0.50 721 1 3.61 a D25 088 1| 1
a D25 038 2 1
a D25 038 1| 1
[E#2  |D25 1.00| 5| 1
FEMF |D25| 1214 5] 1
a D25 0.50| 5 2
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Ig#% | D10 727 2 1 14.54
j D10 0.15| 2| 1 0.30
E1ERS [D10 0.50[ 4] 1 2.00
g1 f% D10 0.50 7 1 3.50
2~ 331
B~Ci@h| 0.320 0.620] 2.400] 1 0.476(  0.42 2.40| 2 2.02| s E [D19 8.10 3| 1
B3 0.12 2400 1 0.29 a D19 0.67] 3 2
0.320 0.620| 2.300] 1 0.456]  0.42 2.30 2 193] JE# |D19 oo 3 1
0.12 2.30 1 0.28] FAFT |D19 g0 3 1
0.320(  0.620| 2.405 1 0.477|  0.42 241 2 202 a D19 0.38] 3| 2
0.12 241 1 0.29] STP [D10 1.80| 14| 1 25.20
STP D10 1.80| 13 1 23.40
STP |D10 1.80] 14/ 1 25.20
IEf% | D10 2.46| 2 1 4.92
fiEf | D10 2.36] 2 1 4.72
ig#% | D10 247 2 1 4.94
g1k f% D10 0.30] 2 1 0.60,
g 1A% [ D10 0.30] 2 1 0.60
gL f% D10 0.30] 2 1 0.60,
2~31@Y
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a D19 038 3 2
STP  |D10 180 11/ 1 19.80
fig#% | D10 1.92] 2 1 3.84
g1 f% D10 0.30] 2 1 0.60,
2~ 331
ATEY 0.320] 0.600] 3.210| 1 0.616 0.60 3.21 1 1.93| FEAGE | D19 3.21] 3] 1
B11 0.12 321 1 039 a D19 067 3 2
0.40 321 1 1.28] EfFF | D19 2.89] 3| 1
a D19 038 3 2
STP  |D10 1.80] 16| 1 28.80
figf% | D10 2.95 2 1 5.90
g 1Ef; D10 0.30] 2 1 0.60,
3~4iY
Y 0.320] 0.600[ 3.310] 1 0.636 0.60 331 1 1.99) FA5 L (D19 3.31 3] 1
B11 a D19 0.67] 3 2
0.40 331 1 132 EFTF | D19 2.99 3] 1
a D19 038 3 2
STP  |D10 1.80] 16| 1 28.80
lE# |D10 3.05] 2] 1 6.10
g 1Ef; D10 0.30] 2 1 0.60,
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B11 0.12 2.38] 1 029 a D19 067 3 2
0.40 2.38] 1 0.95 EfFF |D19 2.38] 3] 1
a D19 038 3 2
STP  |D10 .80 13 1 23.40
fig#% | D10 2.44) 2 1 4.88
gL/ | D10 0.30] 2 1 0.60,
3~438Y)
A~Bi@Y [ 0.320] 0.600] 2.080] 1 0.399 0.60 2.08) 1 1.25| FfFE [D19 2.08] 3] 1
B11 0.12 2.08] 1 0.25 a D19 067 3 2
0.40 2.08) 1 0.83| EfFF [D19 2.08] 3] 1
a D19 038 3 2
STP  |D10 .80 12[ 1 21.60
lE# |D10 2.14] 2] 1 4.28
gL/ | D10 0.30] 2 1 0.60,
17.063 73.770 340.14|  527.60

-60/72 -




Bix HEHEE

- w2 y)—k LTI # 175
s+ YOS s+ yET| mORE | 4 B | & | RS |A%|»Pr| D10 D13 D16
2 2P RE
laSG:)
2~ 330 3.060 3.100[ 0.200] 1 1.897] 3.06 3.100 2 18.97| #EA5 [D10 3.100 22 2 136.40
W18 a D10 0.30] 22| 4  26.40
R D10 3.06| 22 2 134.64
a D10 0.30] 22| 4  26.40
iEIL# [D10 0200 3 3 1.80
laSGi)
3~ 4381 3.050| 3.330] 0.320] 1 3.250 3.05 3.33) 2 20.31] #Efn | D13 3.33 17 2 113.22
W30 -0.730|  1.300| 0.320] 1 -0.304 -0.73 1.30| 2 -1.90| fiEA5 D3| -1.30] 4 2 -10.40,
a D13 0.39| 17| 4 26.52
R D13 3.05| 18] 2 109.80,
K |D13|  -0.73] 7] 2 -10.22
a D13 0.39 18 4| 28.08
Mg 1L/ | D10 0.30] 3| 3 2.70
B 11 A 348 A
fieRs | D16 1.30] 4 9 10.40
a D16 0.56| 8 2 8.96
5 D16 0.73] 4 2 5.84
a D16 0.56| 8 2 8.96
A5 D13 0.91 2| 4 7.28
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W18 a D10 030 21| 4f 2520
KRG | D10 2.95| 19| 2 112.10
a D10 030 19| 4  22.80
g1 f% D10 0.18) 2| 2 0.72
BifY
3~ 431 6.405  3.030] 0.270| 1 5.240(  6.41 3.03) 2 38.84 fitfr D13 3.03] 34 2 206.04,
EW25 -1.030]  2.095| 0.270| 1 -0.583|  -1.03 2.100 2 -4.33| fiEA5 D3| -2.100 6] 2 -25.20
a D13 0.39] 34| 2 26.52
a D13 0.39] 28] 2 21.84
R D13 6.41| 17| 2 217.94
Mifs D13 -1.03| 11| 2 -22.66
a D13 0.39] 17| 4 26.52
j D13 052 6 2 6.24
g 1Ef; D10 0.25| 6 3 4.50
B AR AT
eRs | D16 2.100 4 2 16.80
a D16 0.56| 8 2 8.96
#if5 | D16 .03 4 1 4.12
a D16 0.56| 8 1 4.48
5 | D13 091 2 2 3.64
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15 | D10 1.35| 10| 2 27.00
KRG | D10 0.18| 10| 2 3.60
a D10 0.30| 10| 2 6.00
g1 f% D10 0.18) 1 1 0.18
a—F— | D13 .35 1| 4 5.40)
Cilb
2~ 331 7.260[  2.041] 0.220] 1 3.260(  7.26) 2.04] 2 29.62( #EAH | D10 2.04 50 2 204.00
W18 a D10 0.30| 50| 2 30.00
HEfH | D10 7.26| 15| 2| 217.80
j D10 0.35] 15| 2 10.50
g 1IE45 | D10 0.8 7| 2 2.52
Ciib
3~ 43V 6.405|  3.300] 0.200] 1 4.227|  6.41 3.30 2 42.31)  #EfF  |D10 3.300 44 2 290.40
EW18 -1.930]  1.400| 0.200 1 -0.540 -1.93 140 2 -5.40( #ER5  |D10|  -1.40] 14] 2 -39.20
a D10 0.30| 44| 4  52.80
#if5 | D10 6.41| 23| 2 294.86
W5 |DLO|  -1.93] 10| 2 -38.60
a D10 0.30] 23| 4 27.60
j D10 0.40[ 13| 2 10.40
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a D13 0.46| 8 2 7.36)
KA | D13 193] 4 2 15.44
a D13 0.46| 8 2 7.36)
A5 |D13 0.91 2| 4 7.28
Cifv
4~3@Y 1.345|  1.250| 0.220] 1 0.370 1.35 1.25 2 3.38] #Em |D1O 1.25 10 2  25.00
W18 0.22 1.25) 1 0.28] a D10 0.30] 10| 2 6.00
i D10 135 10 2 27.00
#if5 | D10 0.18] 10| 2 3.60
a D10 0.30] 10| 2 6.00
g 1IE45 | D10 o8| 1 1 0.18
a—f— [DI13 .35 1| 4 5.40)
3180
B~Ci@v | 7.310 3.500{ 0.180| 1 4.605|  7.31 3.500 2 51.17) #¢ |D1o 3.500 50 2| 350.00
EW18 -1.480]  2.800| 0.180| 1 -0.746] -1.48]  2.80 2 -8.29| #EAs |D10|  -2.80] 10| 2 —56.00
a D10 0.30| 50| 2 30.00
a D10 0.30] 40| 2  24.00
5 |D10 7311 250 2| 365.50
K |D1o|  -1.48] 19 2 -56.24
a D10 0.30 6 2 3.60
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I@IEA; [Dlo|  -0.18] 1 2 -0.36
B O AR A
e | D13 2.80[ 4 1 11.20
a D13 0.46| 8 1 3.68
R | D13 148 4 1 5.92
a D13 0.46| 8 1 3.68
#5 | D13 091 2 1 1.82
4180
B~Ci@bv| 7.310 3.500 0.200] 1 5117 7.31 3.500 2 5117 #fn | D10 3.500 50 2| 350.00
W18 -2.2000  2.700|  0.200] 1 -1.188| -2.200 270 2[  -11.88| fAF |Dlo| -0.27| 15| 2f  -8.10
a D10 0.30 50| 4  60.00
5 D10 7311 250 2| 365.50
i [plo|  -2.200 18] 2 -79.20
a D10 0.30 25 4  30.00
j D10 0.40 7 2 5.60
E1ERS [ D10 0.18] 7| 3 3.78
Ig@LAG [DlO|  -0.18] 2| 2 -0.72
B 11 A 540 A5
feRs | D13 2.700 4 2 21.60
a D13 0.46| 8 2 7.36
iR [D13 2.200 4] 2 17.60)
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2~3i@"
A~BiY | 2.495 3.300] 0.200 1 1647  2.50  3.30] 2 16.50| #ER5 | D10 3.300 18] 2| 118.80
W18 a D10 0.30 18] 4  21.60
5 |D10 2500 23] 2| 115.00
a D10 0.30] 23| 4 27.60
g 1EfH D10 0.18) 2| 3 1.08
2~ 30
B~Ci@v| 8720 3.280 0.200[ 1 57200 872 3.28] 2 57.20( #AH | D10 3.28] 60 2 393.60
W18 -1.030]  2.950| 0.200] 1 -0.608| -1.03]  2.95 2 -6.08| fEs |Dlo|  -2.95] 7| 2 -41.30
-1.000[  1.000] 0.200] 2|  -0.400f -1.00 1.00] 4 -4.00| fiesm  |Dlo|  -1.000 7| 4 -28.00
-1.200[  1.200] 0.200] 1 -0.288]  -1.20 1200 2 -2.88| #iEf5  |D1o|  -1.200 8 2 -19.20

a D10 0.30[ 60 4 72.00

% |D10 8.72| 23 2 401.12

M5 |DI0|  -1.03] 20 2 -41.20

B5 DOl -1.00] 7| 4] -28.00

i [plo|  -1.200 8 2 -19.20

a D10 0.30] 23] 4 27.60

j D10 0.35 7 2) 4.90

gL #; | D10 0.18) 8 3 4.32

W@IEfG [D1o|  -0.18] 1 2 -0.36
f@iA5 [D1o|  -0.18] 3 1 -0.54
BA O A
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a D13 0.46| 8 8 29.44
B |D13 103 4 2 8.24
#if5 D13 .00 4 4 16.00)
5 D13 .20 4 2 9.60
a D13 0.46| 8 8 29.44
&5 | D13 0.91] 2| 1 29.12
2~3i@Y
B~Ci@v| 1.860] 3.700] 0.150| 1 1.032 1.86]  3.70] 2 13.76( fitA5 D10 3.700 14 1 51.80
W15 a D10 0.30] 14| 2 8.40)
5 |D10 1.86] 26 1 48.36
a D10 0.30| 26| 2 15.60
g 1Ef; D10 0.15| 1 3 0.45
3~4i@Y)
A~BiY | 2.085 3.257] 0.2000 1 1358 2.09]  3.26| 2 13.63] #ER5 | D10 3.26| 15 2  97.80
W18 a D10 0.30 15| 4  18.00
&5 D10 2.09] 23 2 96.14
a D10 0.30] 23| 4 2760
gL f% D10 0.18) 2| 3 1.08
35.00) 331.730) 4593.25| 1043.14|  68.52
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2f 21 EERRIR
2~ 438"
B~Ci#b) 2.610[  8.065 0.220 1 4.631] 2.61 8.07 1 21.06f E#5 =T | D13 2.61f 42 2) 219.24
520 2.250[  2.385 0.220 1 1.181] 2.25 2.39 1 5.38| Eff £ T D13 8.07| 13 2) 209.82
2.250[  2.260|  0.220 1 1.119 2.25 2.26 1 5.09] Ef £ | D13 8.07| 10 2) 161.40
2.250f  2.350|  0.220 1 1.163 2.25 2.35 1 5.29| Ef £ T|D13 2.38) 17 2) 80.92
1.860|  2.425 0.200 1 0.902] 1.86 2.43 1 4.52 F/5 - F (D13 2.08[ 17 2) 70.72
1.860{  2.300]  0.200 1 0.856] 1.86 2.30 1 4.28| £/ £ T| D13 8.20| 38 2) 623.20
1.860|  0.375 0.200 1 0.140] 1.86 0.38 1 0.71] a D13 0.39] 84 1 32.76
1.860 1.715 0.200 1 0.638 1.86 1.72 1 3.20) a D13 0.15| 84 1 12.60
3.080[  2.380|  0.200 1 1.466 3.08 2.38 1 7.33 a D13 0.39] 26 1 10.14
3.030[  2.075 0.200 1 1.257 3.03 2.08 1 6.30) a D13 0.15| 26 1 3.90
7.205 2.455 0.200 1 3.538] 7.21 2.46 1 17.74 j D13 0.46| 26| 1.5 17.94
7.205 2.300{  0.200 1 3.314] 7.21 2.30 1 16.58 a D13 0.39| 20 1 7.80
7.205 2.445 0.200 1 3.523 7.21 2.45 1 17.66 a D13 0.15] 20 1 3.00
j D13 0.46| 20| 1.5 13.80
a D13 0.39] 34 1 13.26
a D13 0.15] 34 1 5.10
a D13 0.39] 34 1 13.26
a D13 0.15] 34 1 5.10
a D13 0.39| 76 1 29.64
a D13 0.15| 76 1 11.40
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B ETF|D13 1.86| 27| 2 100.44
Ed7) EF|DI13 1.86| 13| 2 48.36
B/ | D13 3.08] 13 2 80.08
B4 ET|D13 3.03] 12 2 72.72
KA ET|D13 7.21] 41] 2 591.22
a D13 0.39] 30 1 11.70
a D13 0.15| 30 1 4.50
j D13 0.46| 30 1 13.80
a D13 0.39| 80 1 31.20
a D13 0.15| 80| 1 12.00
a D13 0.39| 54 1 21.06
a D13 0.15| 54 1 8.10
a D13 0.39| 26 1 10.14
a D13 0.15| 26| 1 3.90
a D13 0.39| 26 1 10.14
a D13 0.15| 26| 1 3.90
a D13 0.39| 24 1 9.36
a D13 0.15| 24 1 3.60)
a D13 0.39| 82 1 31.98
a D13 0.15| 82| 1 12.30
j D13 0.46| 82 1 37.72
et 4108
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2W 2WEHE
BN
AiEY 3.455  0.2000 0.500] 1 0.346 3.46 0.50| 2 3.46| e [ D10 0.50| 25 2 25.00
2~ 331 a D10 0.30| 25 2 15.00
R D10 3.46| 3] 2 20.76
a D10 0.30] 3| 4 3.60
s | D13 3.46| 4] 1 13.84
a D13 039 4| 2 3.12
2~ 331 2.700  0.200[ 0.525 1 0.284 2.70 0.53 2 2.86( #itfn | D10 0.53| 19 2 20.14
A~Bi&@h a D10 0.30| 19 2 11.40
A5 | D10 2.90] 3] 2 17.40
a D10 0.30] 3| 4 3.60
K | D13 2.90 4] 1 11.60)
a D13 039 4| 2 3.12
BiE@Y 5.075  0.200[ 0.550| 1 0.558 5.08 0.55 2 5.59| it | D10 0.55 35 2 38.50
a D10 0.30| 35 2 21.00
5 |D10 508 3] 2 30.48
a D10 0.30] 3| 4 3.60
K | D13 5.08 4] 1 20.32
a D13 0.39] 4| 2 3.12
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15 | D10 9.11) 3| 2 54.66
a D10 030 3 4 3.60
j D10 0.35 6 1 2.10
5 D13 9.11 4 1 36.44
a D13 0.39] 4 2 3.12
j D13 0.46| 4 1 1.84
Civ 16.030[  0.200] 0.550| 1 1.763  16.03 0.55| 2 17.63| #ERR  [D10 0.55 108 2f 118.80
a D10 0.30[ 108] 2|  64.80
#if5  |D10|  16.03] 3] 2 96.18
a D10 0.30 3| 4 3.60
j D10 0.35 6 2 4.20
5 |DL3|  16.03] 4 1 64.12
a D13 0.39] 4 2 3.12
j D13 0.46| 4 2 3.68
438D 9.110|  0.200[ 0.500] 1 0.911] 9.11 0.50 2 9.1 fEfH |D10 0.50| 62| 2f  62.00
a D10 0.30| 62| 2 37.20
#if5 | D10 9.11| 3 2 54.66
a D10 0.30 3| 4 3.60
j D10 035 6 1 2.10
Hf D13 9.11] 4 1 36.44
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Bi#Y 3.775  0.2000  0.550| 1 0.415 3.78 0.55 2 4.16| fEfH D10 0.55 26| 2 28.60
a D10 0.30 26| 2 15.60
#if5 | D10 3.78] 3] 9 22.68
a D10 0.30] 3| 4 3.60
R D13 3.78] 4 1 15.12
a D13 039 4] 2 3.12
3~ 4381 2.895 0.2000 0.525 1 0.304 2.90 0.53 2 3.070 #Ef5 |D1O 053 21| 2 22.26
A~Bi&@h a D10 0.30| 21| 2 12.60
3589 5 |D10 2.90 3 2 17.40
a D10 0.30] 3| 4 3.60
i | D13 2.90| 4] 1 11.60)
a D13 039 4| 2 3.12
AiY 3.125  0.200[ 0.500] 1 0.313 3.13 0.50] 2 3.13) #Ef5  |D1o 0.50| 22| 2 22.00
2~ 330 a D10 0.30] 22| 2 13.20
#if5 | D10 3.46| 3] 2 20.76
a D10 0.30] 3| 4 3.60
M |D13 3.46| 4] 1 13.84)
a D13 0.39] 4| 2 3.12
5.805 58.120 1003.08|  258.76)
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B |exarea|wwr| T | B2V th | BF |exn|eea|per| T | BT (#Y
[ERTE]
1200 x 600 x 150H 1.20 X 0.60 X 0.15 = 0.11
avsy— 01 | m3
( 1.20 0.60 2 0.15 = 0.54
B : ) | x : 054 | m2
1.20 X 0.60 + 0.05 = 0.04
ELAIL 058 | m3
( 1.20 + 0.60 ) X 2 X 0.15 = 0.54
D10(#733@200 1.20 4 0.60 7 = 9.00
% &7 ) - : - 900 | m
0.56 kg/m 9.00 X 0.56 5.04

5.04 kg




BETHE KR THEE- BERWBHETIE #EH ® (AH)

W iERER O (M#E)
WEMAREHER No. 1 - 1 -
b # 3 =
S 2 lees| 28 \ne=  — — : BETE
&5 H o e - = E B & (ellT) B OE & (ke/mE)
A =]

[,VX,] [,?,] Fm'j (kg) | [ke) |Ckg/m?) 250 | 500 | 800 | 1000 | 3000 | 5000 | 7000 | 10000 | 15000 | 600 | 500 | 400 | 300 | 200 | 100 | [kegl | (ko]
BRERAKTAETS 1 2.50 1.30 3.40 870 870 79 25 [ ) 21750 3.76
E’MWH"”;"?‘E 2 2.20 1.30 3.40 800 800 83 25 ° 20000|  4.00
BRESS 2 2.20 2.10 2.50 800 800 70 25 ) 40000 4.00

MEEE &t (h] 11.76
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